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(B) (WA LFEBEYIHERT HHED LA EDES(m) (F) A LB EY AT DHED L AZEDES() %i?gﬁ’gzigfﬁiﬂﬁ%%ﬁ_ ﬁ@ jﬁ‘fr Fr7EHh AETRHET AL
(C) BEN= LB AA 00N/ M EL T DR i DI EI D A DR AMEKN/n) (G) HIEEH3m LT DRI D HIED 51 DBAIERN/ 1) ENBRGISE SRRLEREBHAIIHAS
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RHEE w =
A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
1) 124.4 1.0 100.0 1.0 - - 12.8 2.5 124.4 1.0 99.3 1.0 - - 12.8 2.5
( 2) | 1300 10 100.0 10 - - 12.5 2.5 130.0 10 96.9 10 - - 125 25
( 3) 137.8 1.0 99.2 1.0 - - 12.9 2.6 137.8 1.0 96.6 1.0 - - 12.9 2.6
( 4) - - 96.6 1.0 - - 10.8 2.1 - - 96.6 1.0 - - 10.8 2.1
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